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RATIO & PROPORTION

1. a : b : : 2 : 3, b : c : : 4 : 5. find a : b : c .

(a) 8 : 12 : 15 (b) 4 : 3 : 5

(c) 4 : 6 : 9 (d) 2 : 4 : 7

2. a : b : : 2 : 3, b : c : : 4 : 1, c : d : : 2 : 5

find a : b : c : d .

(a) 14 : 8 : 9 : 7 (b) 17 : 24 : 7 : 14

(c) 16 : 24 : 6 : 15 (d) 19 : 25 : 8 : 17

3. a : b : : 2 : 1, b : c : : 3 : 2, c : d : : 3 : 4, d : e : : 5 : 2

find a : b : c : d : e .

(a) 60 : 30 : 15 : 44 : 17

(b) 80 : 40 : 15 : 20 : 19

(c) 90 : 45 : 30 : 40 : 16

(d) 77 : 15 : 19 : 20 : 16

4. A man divided his property so that his son's share to

his wife's and wife's share to his wife's and wife's
share to his daughter's are both as in the ratio 3 : 1. If

the daughters get ` 10,000 less than son, the value

(in rupees) of the whole property is :

` 10,000 

(a) ` 16,250 (b) ` 16,000

(c) ` 18,200 (d) ` 17,000

5. The ratio of A and B is 2 : 3 and the ratio of B and C

is 4 : 5 . Then find  A2 : B2 : BC.

A  B 2 : 3 B  C 

4 : 5 A2 : B2 : BC 

(a) 15 : 20 : 25 (b) 8 : 24 : 32

(c) 16 : 36 : 45 (d) 9 : 18 : 27

6. If a : b = 
2 1

: ,
9 3

b : c = 
2 5

:
7 14

 and d : c = 
7 3

:
10 5

 then

a : b : c : d is

(a) 4 : 6 : 7 : 9 : 8 (b) 16 : 24 : 30 : 35

(c) 8 : 12 : 15 : 7 (d) 30 : 35 : 24 : 16

7. a : (b + c) : : 1 : 3

c : (a + b) : : 5 : 7

find b : (a + c) = ?

(a) 1 : 2 (b) 2 : 1

(c) 3 : 2 (d) 5 : 3

8. If ( ) : : : 5 : 2x y then ( )

(i)

3 3

3 3

–x y

x y+
= ?

(a)  
117

133
(b)

114

132

(c)
129

144
(d)

168

135

(ii)

2 2

2 2

–x xy y

x xy y

+

+ +
= ?

(a)
68

35
(b)

19

39

(c)
17

86
(d)

15

23

(iii)

2

2 2

–xy x

x y+
= ?

(a)  
17

29
(b)

18

29

(c)
15

29

-
(d)

19

29

(iv)

2

2

x y

x y

+

+
= ?

(a)  5 (b) 4

(c) 2 (d) Can't be determined

9. If (a + b) : (b + c) : (c + a) : : 4 : 7 : 9

& a + b + c = 30 then find c = ?

(a) 16 (b) 17

(c) 15 (d) 18

10. If (a + b) : (b + c) : (c + a) : : 6 : 7 : 8

& a + b + c = 14 then find c = ?

(a) 4 (b) 6

(c) 8 (d) 7

11. If ( ) : :: 3: 4a b & : :: 4: 7b c .

then ( ) ?
a b c

c

+ +
=

(a) 1 (b) 2

(c) 3 (d) 4

12. If ( ) 2 2 2 2(4 – 3 ) : (2 5 ) ::12 :19x y x y+

then ( ) x : y = ?

(a) 1 : 2 (b) 4 : 3

(c) 4 : 5 (d) 3 : 2

13. If Q
2

p q r+ +
= &
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21. The mean proportional between 45 and a certain num-

ber is three times the mean proportional between 5
and 22. The number is :

(a) 24 (b) 49

(c) 22 (d) 9

22. If the mean proportional between X and Y is n times

the third proportional, then the ratio X : Y will be :

X Y 

X Y 

(a) n2 : 1 (b) 1 : n2

(c) n2/3 : 1 (d) 1 : n2/3

23. If 
3

= ,
4

x

y
then 

2 3
?

3 – 2

x y

x y

+
=

(a) –9 (b) 0

(c) 18 (d) 1

24. If 
3

,
2

a

b
= then 

2 2

2 2
?

–

a b

a b

+
=

(a)
13

5
(b)

5

13

(c)
14

5
(d)

15

7

25. If 
9

5

a c e

b d f
= = = then 

2 3 5
?

2 3 5

a c e

b d f

+ +
=

+ +

(a)
3

4
(b)

2

5

(c)
9

5
(d)

3

7

26. If 4
a c e

b d f
= = = then 

(i) ?
ma nc pe

mb nd pf

+ +
=

+ +
(a) 1 (b) 2

(c) 3 (d)

(ii) 
2 2 2

2 2 2
?

ma nc pe

mb nd pf

+ +
=

+ +
(a) 10 (b) 16

(c) 20 (d) 18

(iii)
2 2 2

2 2 2
?

m a n c p e

m b n d p f

+ +
=

+ +
(a) 1 (b) 4

(c) 8 (d) 16

(Q – p) : (Q – q) : (Q – r) : : 17 : 5 : 8,

then p : q : r = ?

(a) 16 : 19 : 21 (b) 7 : 8 : 5

(c) 14 : 19 : 21 (d) 13 : 25 : 22

14. In a triangle ABC, (s – a) : (s – b) : (s – c) : : 11 : 8 :

7 where s is semi perimeter.

a, b, c are sides

find the ratio of a : b : c

ABC (s – a) : (s – b) : (s – c) : : 11 : 8 : 7

s a, b, c a : b : c

(a) 7 : 8 : 11 (b) 14 : 17 : 19

(c) 15 : 18 : 19 (d) 9 : 13 : 21

15. If : 2 : 2x y z y z w x z w- + - + + - = 2 :

3 : 5, then 3 3 2 : ?x z w w+ - =

(a) 7 : 1 (b) 4 : 3

(c) 9 : 1 (d) 8 : 1

16. What is the mean proportional of

3 2 , 12 – 32+ .

3 2 , 12 – 32+

(a) 4 2 2- (b) 2 7

(c) 2 5 (d) 6

17. What is the mean proportional of

15 200+ and 27 648 ?-

15 200+ 27 648-

(a) 4 (b) 14 7

(c) 3 5 (d) 5 3

18. What is the third proportional of

2 2,
x y

x y
y x
+ + .

2 2,
x y

x y
y x
+ +

(a) xy (b) 1

(c) x2y2 (d) x2 + y2

19. What is the fourth proportional of 18, 24, 30.

18, 24, 30 

(a) 60 (b) 89

(c) 54 (d) 40

20. What is the fourth proportional of x2 – y2, x + y, x – y.

x2 – y2, x + y, x – y 

(a) 0 (b) 2

(c) 1 (d) 4



ABHINAY MATHS CLASSES

A-7, Top Floor, Jai Building, Commercial Complex Near Chawla Restaurant,
Dr Mukherjee Nagar, Delhi-110009

34. The ratio of milk and water in a pot is 2 : 5. If 14 l

water is added, then the ratio becomes 1 : 3. Find the
initial quantity of milk.

(a) 14 litre (b) 20 litre

(c) 28 litre (d) 24 litre

35. The ratio of milk and water in a pot is  2 : 3. If we

added 5l milk and 5l water then the ratio becomes

3 : 4. How much quantity of total mixture was present
initially?

(a) 25 litre (b) 10 litre

(c) 20 litre (d) 8 litre

36. The ratio of milk and water in a pot is 1 : 3. If we

added 9l milk and 9l water then the ratio becomes
2 : 3. How much quantity of total mixture was present

initially?

(a) 6 litre (b) 24 litre

(c) 12 litre (d) 10 litre

37. The ratio of milk and water in a pot is 5 : 7 . If we add 5l

milk and 5l water then ratio becomes 3 : 4. Find the ini-

tial quantity of milk.

5

l 5 l 3 : 4 

(a) 5 litre (b) 10 litre

(c) 25 litre (d) 15 litre

38. The ratio of milk and water in a pot in 2 : 3. If we

subtracted 3l water then ratio become 5: 7. Find the
initial quantity of milk.

2 : 3 

3 

?

(a) 30 litre (b) 15 litre

(c) 35 litre (d) 10 litre

39. The ratio of two number is 1 : 2 . If 7 is added in both

number then ratio become 3 : 5 . Then find these
number.

1 : 2 

 3 : 5 

27. If 
3

2

a c

b d
= = then 

13 – 111
?

13 – 111

a c

b d
=

(a)
3

2
(b)

1

2

(c)
5

2
(d)

3

5

28. If  a, b, c > 0, then 

?
a b c

b c c a a b
= = =

+ + +

(a)
1

2
(b)

3

2

(c)
7

5
(d)

5

3

29. If  a, b, c > 0, then 

?
a b c

a b c a b c a b c
= = =

+ + + + + +

(a)
5

9
(b)

1

3

(c)
7

3
(d)

2

3

30. If  a, b, c > 0, then 

?
2 2 2

a b c

a b c a b c a b c
= = =

+ + + + + +

(a) 2 (b) 1

(c) –1 (d) 0

31. If 
y y x x

x z z y

+
= =

-
then x : y : z = ?

(a) 3 : 2 : 4 (b) 4 : 3 : 2

(c) 4 : 2 : 3 (d) 1 : 2 : 3

32. If ( ) 
p r

q s
= , then ( )  

2

?
p q

r s

æ ö+
=ç ÷

+è ø

(a)
pq

rs
(b)

pr

qs

(c)

2
–

–

p r

q s

æ ö
ç ÷
è ø

(d)

33. The ratio of milk and water in a pot is 3 : 4. If 3l

water is  added, then the ratio becomes 3 : 5. Find the
initial quantity of milk.

 3 : 5 

(a) 8 litre (b) 5 litre

(c) 9 litre (d) 12 litre
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(a) 7, 14 (b) 21, 42

(c) 14, 28 (d) 8, 40

40. Two number are in the ratio of 3 and 5. If 9 is

substracted from both then ratio become 12 : 23.

Then number is?

 12 : 23 

(a) 36, 60 (b) 33, 55

(c) 30, 50 (d) 24, 40

41. Find the number that must be added to the terms of

the ratio 7 and 13 to make it equal to 2 : 3.

(a) 5 (b) 7

(c) 4 (d) 6

42. Find the number that must be subtracted from the

terms of the ratio 15 and 19 to make it equal to 3 : 4.

3 : 4 

(a) 2 (b) 3

(c) 4 (d) 5

43. There are officer and Assistant in an office. If 15 As-

sistant went on leave then every Assistant has two
officers, after that 45 officers went on leave now
every officer has 5 Assistants. Then find out how

many Assistant were there initially.

15 

(a) 30 (b) 40

(c) 25 (d) 35

44. The ratio of number of balls in bags p and q is 2 : 3.

Five balls are taken from bag q and are dropped in
bag p. Number of balls are equal in each bag now.
Find the number of balls in each bag now.

p q

q p

(a) 45 (b) 20

(c) 30 (d) 25

45. In a party the ratio number of  boys and girls are in 1 : 2.

If two boys and two girls went out then it ratio became 1 :
3. How many boys and girls were present initially.

(a) 8, 16 (b) 4, 8

(c) 2, 4 (d) 3, 6

46. My grandfather was 8 times older than me 16 years

ago. He would be 3 times of my age, 8 years from
now. Eight years ago, what was the ratio of my age to
that of my grandfather?

(a) 3 : 8 (b) 1 : 5

(c) 1 : 2 (d) None

47. The income of A and B are in the ratio 3 : 5 and their

expenses are in the ratio 1 : 5. If each saves Rs. 100 then
find their income.

A B 

(a) 120, 200 (b) 300, 500

(c) 180, 300 (d) 150, 250

48. The income of A and B are in the ratio 5 : 3 and their

expenses are in the ratio 9 : 5. If  both  saves respec-
tively Rs. 1300 and Rs. 900, then find their income.

A  B 5 : 3 

(a) 4500, 2700 (b) 4000, 2400

(c) 5000, 3000 (d) 1000, 600

49. The income of A and B are in the ratio 5 : 7 and their

expenses are in the ratio 9 : 11. If  A  saves Rs. 1200 and
B saves Rs. 2000 then find their income.

A B 5 : 7 

9 : 11 A, 1200 B, 2000 

(a) 3000, 4200 (b) 2500, 3500

(c) 4000, 5600 (d) 4500, 6300

50. P and Q earn in the ratio 2 : 1. They spend in the ratio

5 : 3 and save in the ratio 4 : 1. Find the monthly
income of each if the total monthly savings of both P

and Q together is ` 5000?

P Q, 

P 

Q ` 5000 

(a) 14000, 7000 (b) 10000, 5000

(c) 2000, 1000 (d) 8000, 4000
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51. In an examination, the number of those who passed

and the number of those who failed were in the ratio
25 : 4. If 5 more had appeared and the number of
failures were 2 less than earlier, the ratio of students
who passed to the number of students who failed
would have been 22 : 3. Find the total number who
appeared at the examination.

(a) 145 (b) 150

(c) 155 (d) 180

52. In an examination, the number of those who passed

and the number of those who failed were in the ratio
4 : 1. If 35 less had appeared and the number of fail-
ures were 9 more than earlier, the ratio of students
who passed to the number of students who failed
would have been 2 : 1. Find the total number who
appeared at the examination.

(a) 155 (b) 158

(c) 160 (d) 165

53. The ratio of number of boys to the number of girls in

a school of 432 pupils is 5 : 4. When some new boys
and girls are admitted, the number of boys increase
by 12 and the ratio of the boys to girls changes to
7 : 6. Find the number of new girls admitted.

(a) 12 (b) 14

(c) 24 (d) 20

54. The number of  students in three classes are in the

ratio 2 : 3 : 5. If 40 students are increased in each
class, the ratio changes to 4 : 5 : 7. Originally, the
total number of students was :

(a) 100 (b) 180

(c) 200 (d) 400

55. The total number of students in a school was 660.

The ratio of number of boys and girls was 13 : 9.
After some days, 30 girls joined the school and some
boys left. The new ratio of number of boys and girls
became 6 : 5. Find the number of boys who left the
school.

(a) 50 (b) 40

(c) 30 (d) 60

56. ` 180 is to be divided among 66 persons (men and

women). The ratio of the total amount of money re-
ceived by men and women is 5 : 4. But the ratio of
the money received by each man and woman is 3 : 2.

Find the number of men.

` 180 

(a) 20 (b) 24

(c) 30 (d) 36

57. A sum of ` 430 has been distributed among 45 people

consisting of men, women and children. The total
amount given to men, women and children are in the
ratio 12 : 15 : 16. But, the amounts received by each
man, woman and child are in the ratio 6 : 5 : 4.  Find,
what each man, woman and child receives (in `)

`

(a) 12,10,8 (b) 18,15,12

(c) 120,150,160 (d) 60,75,80

58. By an engine the consumption of coal is directly pro-

portional to the square of its velocity. When velocity
is 50 mile/hour then consumption is 100 kg. If cost
of coal is 25paise /kg. and expenditure is 9 Rs./hour
in second case. Then find the consumption in travel-
ling 250 mile.
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(a) 325 kg. (b) 300 kg.

(c) 225 kg. (d) 270 kg.

59. The ratio of income of A, B and C is 3 : 4 : 5  and

there expenses are in the ratio 4 : 5 : 6. If savings of

A is 
1

4
 of its income. Then find the ratio of their

savings.

A, B C 3 : 4 : 5 

4 : 5 : 6 A 
1

4

(a) 12 : 19 : 26 (b) 13 : 20 : 27

(c) 19 : 12 : 26 (d) 14 : 21 : 29

60. The ratio of income of A, B and C is 7 : 9 : 12. The ratio

of expenditure is 8 : 9 : 15. If savings of A is 
1

4
 of its

income. Then the ratio of there savings.

A, B , C 7 : 9 : 12 

8 : 9 : 15 A 
1

4

(a) 56 : 69 : 99 (b) 56 : 99 : 69

(c) 69 : 56 : 99 (d) 56 : 99 : 79

61. The ratio of income of A, B and C is 2 : 3 : 4 and the

ratio of expenditure is 3 : 4 : 5 . Savings of A is 
1

5
of

its income then find the ratio of their savings.

A, B, C  2 : 3 : 4 

3 : 4 : 5 A 
1

5
A , B, C 

(a) 6 : 13 : 20 (b) 7 : 14 : 22

(c) 13 : 6 : 20 (d) 20 : 13 : 6

62. The ratio of salary of 4 men is 3 : 2 : 1 : 4 . If they

increase their salary by 10%, 15%, 12%, 20% re-

spectively . Find out ratio of these income.

3 : 2 : 1 : 4 

10%, 15%, 12%, 20% 

(a) 165 : 115 : 56 : 24 (b) 155 : 110 : 54 : 24

(c) 165 : 156 : 115 : 32 (d) 115 : 165 : 56 : 24

63. The ratio of personal income of A and B of last year

is 9 : 12. The ratio of last year's income and current

year's income of A and B is 3 : 4 and 4 : 5 respec-

tively. The sum of current income of both is Rs.

54000. Then find out A and B's current income sepa-

rately.

A B 

9 : 12 A B 

3 : 4  4 : 5 

A B 

(a) 2400, 3000 (b) 3000, 3600

(c) 24000, 30000 (d) 4200, 5400

64. The ratio of personal income of A and B of last year

is 12 : 25. The ratio of last year's income and current
year's income of A and B is 4 : 7 and 5 : 2 respec-
tively. The sum of current income of both is Rs.
31000. Then find out A and B's current income sepa-
rately.

A B 12

: 25 A B 

4 : 7  5 : 2 

A B 

(a) 21000, 10000 (b) 25000, 7000

(c) 20000, 11000 (d) 19000, 12000

65. The ratio A , B and C of last year income is 3 : 4 : 5. The

ratio of A, B and C last year and current year is 4 : 5, 2 : 3,
3 : 4 respectively. If sum of income of A, B, and C is
Rs. 78800, then find out current income of A, B, and C
separately.

A, B C  3 : 4 : 5

A, B, C 

4 : 5, 2 : 3, 3 : 4 

` 78800 

(a) 18000, 28800, 32000

(b) 18000, 28000, 32000

(c) 18800, 28000, 32000

(d) 18000, 28000, 32000

66. A bag contains 50p, 25p and 10p coins. The ratio of

coins is 5 : 9 : 4 and total amount is ̀  206. Then find

number of coins.

50  , 25 , 10 . 

5 : 9 : 4 

(a) 20, 36, 16 (b) 150, 180, 80

(c) 200, 360, 160 (d) 75, 180, 160

67. A sum of ` 36.90 is made up of 180 coins which are

either 10 paise coins or 25 paise coins. Find the num-
ber of 10 paise coins.

` 36.90 

(a) 50 (b) 52

(c) 51 (d) 54
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68. A bag contains Rs. 180. In which Rs. 1, 50p, 25p

coins . Their ratio are  2 : 3 : 4. Then find number of

all types of coins separately.

180 1 , 50  25 

2 : 3 : 4 

(a) 40, 60, 80 (b) 160, 120, 180

(c) 80, 120, 160 (d) 80, 120, 150

69. A box contains Rs. 56 of Rs. 1, 50p and 25p. The

number of 50p coins is double of 25p coins and 4
times of Rs. 1 coins. Then what is the number of 50p
coins?

56 1  50 25 

 50 25 

1 

50 ?

(a) 12 (b) 64

(c) 128 (d) 60

70. A bag contain 378 coins, Rs. 1, 50P and 25P. The

ratio of there value is 13 : 11 : 7. Then find the num-

ber of 50 P coins.

378  

13 : 11 : 7 50 

(a) 132 (b) 130

(c) 61 (d) 65

71. A bag contains 480 coins of 50p, 25p, 10p and the

ratio of their value is 5 : 3 : 1. How many coins of

these three type?

50 , 25  10 

5 : 3 : 1 

?

(a) 75, 90, 75 (b) 150, 180, 150

(c) 100, 99, 75 (d) 150, 120, 60

72. A diamond broke into three part , the ratio of weight of

three part is 2 : 3 : 4. The price of diamond is directely

proportional to its square weight. If the loss of ̀  52000
after breaking  diamond then what was the starting price
of diamond.

3 

2 : 3 : 4 

` 52000 

(a) 80000 (b) 50000

(c) 60000 (d) 81000

73. A heart is broken is number of feelings 1 : 2 : 3 : 4 .

The cost of heart is directly proportional to the square
of number of feelings. There is loss of Rs. 700 on

broken heart. Find the initial cost of the heart?

 1 : 2 : 3 : 4

700 

(a) 10000 (b) 5000

(c) 1000 (d) 900

74. The cost of the plyboard varies directly with square

of its weight. Plyboard is broken into 3 parts whose

weight are in the ratio 9 : 2 : 1. If plyboard had been
broken into three part whose weight are in the ratio 7

: 3 : 2 then there would have been a further loss of `
448. What is the actual cost of original plyboard?

` 448 

(a) 896 (b) 2688

(c) 1624 (d) 928

75. Three person A, B, and C spend 75%, 70%, 80% of his

income. The saving ratio of there is 20 : 9 : 8 . The total
amount of there income are Rs. 45000. Then there in-
comes are?

A, B, C 75%, 70%, 80%

20 : 9 : 8 

45000 

(a) 24000, 9000, 12000

(b) 12000, 4500, 6000

(c) 48000, 18000, 24000

(d) None of these / 

76. The sum of  income of A, B, C are Rs. 30000. A, B,

and C spend 75%, 70% and 62% of their income. If
their savings are in ratio 20 : 21 : 19. Then what are
their salary?

A, B, C  A, B, C

75%, 70% 62% 

20 : 21 : 19 

(a) 12000, 10500, 7500

(b) 12000, 10000, 8000

(c) 10000, 12000, 8000

(d) 8000, 16000, 6000

77. There are 3 types of expenditure in a car.  Ist raw

material, IInd labour expenditure, IIIrd is extra
expenditure. The ratio of these expenditure are 4:3:2.
If Ist expenditure is increased by 10%, IInd is
increased by 8% and IIIrd is decreased by 5%. Find

the percentage change in price of car.
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4 : 3 : 2 

(a) 4% (b) 2%

(c) 5% (d) 6%

78. On the whole surface of earth the ratio of land and water

is 1 : 2 . The land and water in northern hemisphere is
ratio 2 : 3. Then what is the ratio of land and water in
southern hemisphere.

1 : 2 

2 : 3 

(a) 4 : 11 (b) 11 : 4

(c) 5 : 12 (d) 4 : 7

79. On the whole surface of earth the ratio of land and water

is 1 : 2 . The land and water in northern hemisphere is
ratio 3 : 4. Then what is the ratio of land and water in
southern hemisphere.

1 : 2 

 3 : 4 

(a) 5 : 16 (b) 4 : 11

(c) 5 : 11 (d) 4 : 7

80. x, is inversely proportional to square of y, when x =

4, then y = 3 . Find x , if y = 6

x, y x = 4 y = 3. 

x y = 6.

(a) 2 (b) 2

(c) 1 (d) 3

81. In a factory the number of labour decrease in the ra-

tio 9 : 8 and their salary increase in the ratio 14 : 15.
If total wages of one day decrease by Rs. 6000. Then
find the present salary of each day.

9 : 8 

14 : 15 

(a) 120000 (b) 100000

(c) 160000 (d) 120000

82. In a office the number of officer decrease 11 : 9. There

daily wages increase 12 : 19. Then the total wages
increase of one day is Rs. 19500. Then what was the
starting wages.

11 : 9 

12 : 19 

19500 

(a) 66000 (b) 60000

(c) 55000 (d) 44000

83. The sum of Rs. 9900 is divided among A, B and C

such that B gets 2/3 of A and C. C gets 3/8 of A and
B. Then they get separately?

A, B, C B A

C 
2

3
C A B 

3

8

(a) 3900, 3300, 2700 (b) 3960, 3200, 2740

(c) 3960, 3240, 2700 (d) 3900, 3200, 2700

84. The sum of Rs. 56000 is divided among A, B, C such

that C gets 4/3 of A and B,while A : B = 5 : 7. Then
all three get separately?

A, B, C C A + B

4

3
A B 

(a) 10000, 14000, 32000

(b) 10000, 14000, 30000

(c) 80000, 17000, 31000

(d) 30000, 16000, 10000

85. The sum of Rs. 2920 is divided among A, B and C

such that if A gets Rs. 1 then B gets 80p but B gets
Rs. 1 then C  gets Rs. 1.40 . How much C gets more
than B.

2920 A, B, C 

A  1 B 80 

B 1 C 1  40 C B

(a) 120 (b) 160

(c) 640 (d) 320

86. The sum of Rs. 530 is divided among A, B and C

such that A gets Rs 70 more than B and B gets Rs. 80
more than C. Then what are there's share

530 . A, B, C A 

B 70 B C 80 

(a) 240, 190, 100 (b) 250, 180, 100

(c) 250, 100, 180 (d) 300, 80, 100

87. The sum of Rs. 2495 is divided among A, B and C

such that  if we dicrease Rs. 15 of share A, Rs. 30 of
share B and Rs. 50 of share C. Then the ratio become 3
: 2 : 7. What are  the share of A, B and C.

A, B, C 

A 15 . B 30 . C 

50 . 

3 : 2 : 7 A, B, C 

(a) 615, 430, 1450 (b) 620, 435, 1425

(c) 600, 400, 140 (d) 620, 420, 1400
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88. The sum of Rs. 500 is divided among A, B and C

such that Rs. 16 is more than  2/5 of A's share, Rs. 70
is less than 3/4 of B's share and Rs. 4 is less than 3/5
of C's share they are equal. Then  what are the share
of A, B, C .

500 A, B, C A 

2

5
16 B 

3

4

70 C 3/5 4 

A, B, C 

(a) 160, 200, 140 (b) 150, 200, 150

(c) 140, 190, 170 (d) 100, 150, 250

89. The sum of Rs. 600 is divided in A, B and C such

that Rs. 40 is more than  2/5 of A's, Rs. 20 is more
than 2/7 of B's and Rs. 10 is more than 9/17 of C's
share, they are equal. Then  what is the share of A, B,
C respectively.

` 600  A, B, C A 
2

5

B 
2

7
C 

9

17

A, B, C 

(a) 140, 240, 190 (b) 170, 260, 170

(c) 150, 280, 170 (d) 100, 330, 170

90. The sum of Rs. 1500 are divide in A, B and C such

that Rs. 40 is more than  2/5 of A's, Rs. 50 is more
than 3/10 of B's and Rs. 75 is more than 5/24 of C's
share, they are equal. Then  what are the share of A,
B, C.

1500 A, B, C A 
2

5

B 
3

10
C 

5

24
A, B, C 

(a) 600, 800, 100 (b) 500, 600, 400

(c) 400, 500, 600 (d) 450, 550, 500

91. A person travelled 2560 km partly by aeroplane,

partly by ship and rest by car. The time taken by
aeroplane, ship and car are in the ratio 1 : 4 : 5 and
the ratio of average speed by all three means is 20 : 1
: 8. If average speed in whole trip is 64 km/hr then
find the speed of ship, time taken by ship and dis-
tance travelled by ship.

(a) 10 km/hr, 16 hr, 160 km

(b) 20 km/hr, 12 hr, 150 km

(c) 30 km/hr, 18 hr, 140 km

(d) 23 km/hr, 17 hr, 120 km

92. An electric train is going with the speed 40 km/hr

and its electric power is thrice of friction force. When
electric power is twice then due to any reason its fric-

tion force becomes 
1

1
2

times. Find its current speed.

1
1

2

(a)
2

52 km / hr
3

(b)
1

50 km / hr
3

(c)
1

53 km / hr
3

(d) 40 km/hr

93. Between two railway staions the fare of 1st, 2nd and

3rd class are in the ratio 8 : 6 : 3. But later on the fare

of 1st and 2nd class is decreased by 
1

6
and 

1

12
re-

spectively. In one year the no. of passengers of 1st,
2nd and 3rd class are in the ratio for 4 : 9 : 24. If total

tickets amounting ` 355600 are sold then find the
fare of all 3rd class.

1

6

1

12

(a) 6400 (b) 170800

(c) 18800 (d) 172800

94. In an election a voter can vote for 2 candidates at a

time. Half of the voters give their 1st vote to candi-
date A and the 2nd vote to candidate B, C and D in
ratio 3 : 2 : 1. Half of the rest voters give their 1st

vote to B and their 2nd vote to C and D in ratio 2 : 1.
Half of the rest of the voters give their 1st vote to C
and D in ratio 1 : 1. 840 voters do not cast their vote.
Find the number of votes each candidate got.
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A 

B, C D 3 : 2 : 1 

B 

2 : 1 C D 

C D 

840 

(a) 3360, 3360, 308, 1960

(b) 3000, 3100, 3080, 1960

(c) 3360, 3200, 1100, 1800

(d) 3160, 3000, 1000, 1100

95. A person spend 1/3rd of his income on food, clothes

and education in the ratio 3 : 2 : 4. He spent 2/5 part

of his income on transport and entertainment in the

ratio 4 : 5 and he deposit ` 2700 in the bank then

find the amount which is spent on food, clothes and

transport.

3 : 2 : 4 

2/5 

4 : 5 

` 2700 

(a) 3675 (b) 3600

(c) 3800 (d) 3725

96. Instead of dividing `117 among A, B, C in the ratio

1 1 1
: :

2 3 4
, by mistake it was divided in the ratio 2 : 3

: 4. Who gained in the transaction & by how much?

`117 A, B C 
1 1 1

: :
2 3 4

2 : 3 : 4

(a) A, ` 28 (b) B, ` 3

(c) C, ` 20 (d) C, ` 25

97. If 64 is divided into the ratio of 2, 4, x and smallest

part is 
2

10
3

. Find x.

x

2
10

3
x

(a)
1

5
3

(b) 6

(c)
2

10
3

(d) 20

98. A person divides a sum to all four sons A, B, C and D

in the ratio 2 : 3 : 4 : 5 and he divide double amount
of previous to all sons in the ratio 9 : 8 : 7 : 6. Who
will receive minimum amount?

A, B, C D 

2 : 3 : 4 : 5 

9 : 8 : 7 : 6

(a) B (b) A

(c) C (d) D

99. `2186 is divided into M, N and P such that if `26,

`28 and `32 are subracted from the share of M, N

and P then ratio of their share becomes 9: 13 : 8.
Find the share of M.

` 2186 M, N P 

` 26, ` 28 ` 32 

9 : 13 : 8 

M 

(a) ` 575 (b) ` 640

(c) ` 656 (d) ` 672

100. Between two railway station the ratio of fare of 1st and

2nd class was 10 : 7 and later on the fare is increased in
the ratio 3 : 4 and 5 : 9 respectively. If the ratio of no.

of passengers of both tier is 3 : 5 and total fare is `
30900 then find the total fare of 2nd tier.

` 30900 

(a) ` 18900 (b) ` 19400

(c) ` 20200 (d) ` 17300

101. The ratio of the first and second class train fares be-

tween two stations is 3 : 1 and that of the numbers of
passengers travelling between the two stations by first

and second classes is 1 : 50. If on a particular day, `
1,325 is collected from passengers travelling between
the two stations then the amount collected from the
second class passengers is :

` 1,325
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(a) ` 1,250 (b) ` 1,000

(c) ` 850 (d) ` 750

102. The ratio of the first and second class fares between

two railway stations is 4 : 1 and that of the number of

passengers travelling by first and second classes is 1 :

40. If on a specific day ` 1,100 is collected as total

fare, the amount collected from the first class passen-

gers is :

` 1,100

(a) ` 315 (b) ` 275

(c) ` 137.50 (d) ` 100

103. In a factory ratio of number of 3 categories (A, B and

C) of workers is 10 : 7 : 4. If number of workers in

category C is 54 and income of total worker in cat-

egory B is ` 1400. Find the total income of workers

of category A.

A, B C 

10 : 7 : 4 C 

54 B 

`1400 A 

(a) `2000 (b) `2400

(c) `3600 (d) `4800

104. The prime cost of an article is thrice of raw material.

If the cost of raw material is increased in the ratio

5 : 12 and cost of manufacturing expenses is increased

in the ratio 4 : 5. If the initial cost is ` 6 then find the

final cost.

`

(a) ` 9.80 (b) ` 4.8

(c) ` 5 (d) ` 9.6

105. Some quantity of rice is required for each member of

a family of 15 members. On a particular day, due to

the absence of some members of the family, the con-

sumption of rice was reduced in the ratio 5 : 3. Find

the number of members absent on that day.

(a) 3 (b) 6

(c) 8 (d) 9

106. An engine can move at the speed of 20/3 m/s with-

out any wagon attached and reduction in the speed

of the train is directly proportional to the square root

of the number of wagons attatched to the engine.

When there are 9 wagons attached its speed is 5 m/

s. The greatest number of wagons with which the

engine can move is :

20/3 

(a) 144 (b) 12

(c) 143 (d) 24

107. A stream engine can travel at 24 km/h without the

train wagons. The reduction in speed of engine is

directly proportional to the square root of the num-

ber of wagons. With 4 wagons the speed of engine is

20 km/h. Find the number of maximum wagons

which an pull by the engine?

108. A factory employs skilled workers, unskilled work-

ers and clerks in the porportion 8 : 5 : 1 and the

wages of a skilled worker, an unskilled worker and a

clerk are in the ratio 5 : 2 : 3. When 20 unskilled

workers are employed, the total daily wages of all

amount to ̀  3180. Find the daily wages paid to each

category of employees.

`

3180

(a) 2100, 800, 280

(b) 2400, 480, 300

(c) 2400, 600, 180

(d) 2200, 560, 420
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ANSWER KEY

1. (a)

2. (c)

3. (c)

4. (a)

5. (c)

6. (b)

7. (a)

8. (i) (a)

   (ii) (b)

  (iii) (c)

  (iv) (d)

9. (d)

10. (b)

1 1. (b)

12. (d)

13. (d)

14. (c)

15. (a)

16. (b)

17. (c)

18. (a)

19. (d)

20. (c)

21. (c)

22. (c)

23. (c)

24. (a)

25. (c)

26. (i) (d)

    (ii) (b)

   (iii) (b)

27. (a)

28. (a)

29. (b)

30. (b)

31. (c)

32. (a)

33. (c)

34. (c)

35. (a)

36. (c)

37. (c)

38. (a)

39. (c)

40. (b)

41. (a)

42. (b)

43. (b)

44. (d)

45. (b)

46. (b)

47. (a)

48. (b)

49. (a)

50. (a)

51. (a)

52. (a)

53. (c)

54. (d)

55. (c)

56. (c)

57. (a)

58. (b)

59. (a)

60. (b)

61. (a)

62. (a)

63. (c)

64. (a)

65. (a)

66. (c)

67. (d)

68. (c)

69. (b)

70. (a)

71. (b)

72. (d)

73. (c)

74. (b)

75. (a)

76. (a)

77. (b)

78. (a)

79. (a)

80. (c)

81. (d)

82. (a)

83. (c)

84. (a)

85. (d)

86. (b)

87. (a)

88. (a)

89. (c)

90. (c)

91. (a)

92. (c)

93. (d)

94. (a)

95. (a)

96. (d)

97. (b)

98. (b)

99. (c)

100. (a)

101. (a)

102. (d)

103. (a)

104. (a)

105. (b)

106. (c)

107. (c)

108. (c)






